K<Y —AS o Hh =15

Ny AO—-FRELROHE

R HH 4 A 58 6 A 7R 8 A 9 R 108 | 118 | 128 18 2 B 3R A5t fEE
B () 5 24 19 1 31 5 12 6 106
11~3 1 7 5 1 8 0 22
4~10 4 17 19 1 26 4 4 6 84
fAEE (L) 0 0 0 0 0 0 0 0
H26 11~3 0
4~10 7 0
oA (H) 14,800 67,410 62,510 3,290 93,740 14,800 26,280 9,870 19,740 312,440
11~3 0
4~10 0
B () 7 16 4 5 36 27 8 3 0 106
11~3 5 5 2 0 15 7 2 1 0 37
4~10 2 11 2 5 21 20 6 2 0 69
fEE (L) 0 0 0 0 0 0 0 0 0 0
H27 11~3 0
4~10 T 0
oA (H) 14,780 44,390 9,860/ 16,450 93,690 77,280 23,020 8,220 0| 287,690
11~3 0
4~10 0
T () 5 14 12 4 17 21 7 5 3 88
11~3 0 6 4 0 6 1 2 1 1 21
4~10 5 8 8 4 11 20 5 4 2 67
FAE (N) 0 0 0 0 0 0 0 0 0 0
H28 11~3 0
4~10 T 0
A (M) 16,450 36,160 32,880| 13,160| 46,030 67,440 19,730 14,800 8,220 254,870
11~3 0 9,840 6,560 0 9,840 1,640 3,280 1,640 1,640 34,440
4~10 16,450 26,320 26,320| 13,160| 36,190| 65800 16,450 13,160 6,580| 220,430
B (1) 7 19 0 7 14 6 1 2 2 58
11~3 3 6 0 0 2 4 0 0 1 16
4~10 4 13 0 7 12 2 1 2 1 42
FAZE (A) 0 0 0 0 0 0 0 0 0 0
H29 11~3 0
4~10 ™7 0
A (M) 18,080 52,610 o 23,030 42760 13,140 3,290 6,580 4,930 164,420
11~3 4,920 9,840 0 0 3,280 6,560 0 0 1,640 26,240
4~10 13,160 42,770 0| 23,030 39,480 6,580 3,290 6,580 3,290 138,180

1/3R=%




K<Y —AS o Hh =15

Ny AO—-FRELROHE

l]>
il
-+

(51

64

19

45

oO|]O1| O] O

0

0

0

179,210

31,160

148,050

49

9

40

0

0

0

146,990

14,790

132,200

R2.3.9Mm 331X T
o gt g /N
Bh IE > 7= HEAEH

36

5

31

146

17

O OO I N|OINJO|O| O

129

6,700

112,200

8,350

6,700

103,850

19

2

17

73

16

57

60,290

R HH 4 A 58 6 A 7R 8 A 9 R 108 | 118
e (1) 2 3 6 8 8 20 8
11~3 0 2 2 1 3 9 2
4~10 2 1 4 7 5 11 6
FRAE (N 0 0 0 0 0 0 0
H30 11~3
4~10 7
wooA () 6,580 6,570| 16,440 24,670 21,370| 50,950 23,020| 13,160
11~3 0 3,280 3,280 1,640 4,920 14,760 3,280
4~10 6,580 3,290 13,160 23,030 16,450| 36,190 19,740| 13,160
T () 12 9 1 3 4 9 6
11~3 3 2 0 1 0 2 0
4~10 9 7 1 2 4 7 6
FAE (N 0 0 0 0 0 0 0
H31
R1 11~3 ~ BB
4~10
mooA () 34,530| 26,310 3,290 8,220 13,160 26,310 20,100| 15,070
11~3 4,920 3,280 0 1,640 0 3,280 0 1,670
4~10 29,610| 23,030 3,290 6,580 13,160 23,030 20,100 13,400
T () 3 1 4 5 4 8 5 4
11~3 0 0 0 1 0 3 1 0
4~10 3 1 4 4 4 5 4 4
FEAE (N) 12 5 12 22 20 28 25 13
R2 11~3 0 0 0 5 0 10 2 0
4~10 12 5 12 17 20 18 23 13
moA (A) 10,050 3,350 13,400 15,070 13,400| 21,760 15,070| 13,400
11~3 0 0 0 1,670 0 5,010 1,670 0
4~10 10,050 3,350 13,400/ 13,400 13,400| 16,750| 13,400| 13,400
e () 0 8 0 3 0 0 3 5
11~3 0 2 0 0 0 0 0 0
4~10 0 6 0 3 0 0 3 5
FAE (N) 0 39 0 5 0 0 10 19
R3 11~3 0 16 0 0 0 0 0 0
4~10 0 23 0 5 0 0 10 19
Mo A (F) o 23,440 o 10,050 0 o 10,050 16,750
11~3 0 3,340 0 0 0 0 0 0
4~10 o 20,100 o 10,050 0 o 10,050 16,750
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FE 1HH 4 B 5 A 6 A 7H 8 A 9 A 10A8 118 12A 1A 2B 3B &5t =
T () 1 5 4 0 4 6 8 1 0 29
11~3 0 2 1 0 2 0 2 0 0 7
4~10 1 3 3 0 2 6 6 1 0 22
FIAE (N) 5 25 6 0 16 27 43 2 0 124
R4 11~3 0 10 1 0 8 0 19 0 0 38
4~10 5 15 5 0 8 27 24 2 0 86
w A (/) 3,350 13,390 11,720 0 10,040 20,100 23,440 3,350 0 85,390
11~3 0 3,340 1,670 0 3,340 0 3,340 0 0 11,690
4~10 3,350 10,050 10,050 0 6,700 20,100 20,100 3,350 0 73,700
XABEH  BED ST CEBET 28z ETNoETchT > M5,
[BrEORE (&H4) ]
X7 EAR
11~3 FET11E~F%30 1#ElcDO= 1,670
4~10 FRABF~FHDOFR]106F 1#ElcDO= 3,350
REEH 12818 Z2FED28KHET
Ny AO—oFBERR
120 350,000
440
300,000
100
254,870
250,000
80
1 200,000
164,420 179,210
€0 e . :
- B NG,QQO
. . :::::: ~ 150,000
. T \112,200
S — . 100,000
20
50,000
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